JL_

Lattice 3 by 2

Use lattice multiplication to solve each problem.
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
867 x 82 = 692 x 97 = 702 x 96 = N 71’094
8 6 7 6 9 2 7 0 2
6/// 4/// 5/// 8 5/// 8/// l/// 9 6/// o/// 1/// 9 2 67,124
71,7 4,7 8|,7 6 6. 4,7 1|, 8 6.7 3|, 0,7 8
/// 1 // 1 // 1 // /// 4 // 6 // 1 // /// 4 // 0 // 1 //
1.6l 2], 4|? 717 2. 3|, 4|’ 1.72]70], 2|8 |2 87392
// O // 9 // 4 // l // 2 // 4 // 3 // 9 //
7 7 Vi 4 4 4 7 7 7 4 77,406
5, 8,892
4 798 x 97 = 5) 684 x 13 = 6) 136 x 16 =
6. 2,176
7 9 8 6 8 4 1 3 6
6 // 8 // 7 // 0 // 0 // 0 // 0 // O // 0 //
7173, 1| 2° ol 6|, 8|, 4|t ol 1], 3|, 6| |7 19200
/// 4 /// 6 /// 5 /// 7 /// 1 /// 2 /// 1/// 3 /// O /// 1 /// 3 /// 6
71.779].7"3|.” 6 gl.” 8. 4|,/ 2 2(.”"6|.7 8|, 6|°||ls 18675
/// 4 /// O/// /// 8 /// 9/// 2 /// l /// 7/// 6
0. 19,964
10. 80,080
7 384 x50 = 8) 415 x 45 = 9 322 x62=
3 8 4 4 1 5 3 2 2 1. 9,156
l,’4,’2,’5 1,’0,’2,’4 1,’1,’1,’6
1.7 5|,70[.,70 1.7 6[.7 4(.7 0 1.7 8[.,7 2], 2 12. 12,265
// 0 // 0 // 0 // // 2 // 0 // 2 // // O // 0 // 0 //
7/ // // V2 O 4 // // 7 5 /7 // // , 2
9(,.~0(.70|.,7-0 8/,0(.”5|,75 91,7 6.7 4|, 4
/// 2 /// O/// 0 /// 6 /// 7/// 5 /// 9 /// 6/// 4
10) 880x91 = 11) 436 x 21 = 12) 223 x 55 =
8 8 0 4 3 6 2 2 3
7,’7,’0,’9 0,’0,’1,’2 1,’1,’1,’5
8(.” 2,7 2|,7 0 of(.” 8{(,” 6,7 2 11,7 0|, 0.7 5
// 0 // 0 // 0 // ’/ 0 // 0 // O // ’/ 1 // 1 // 1 //
/7 // // V2 l 4 // // y 1 /7 // // V2 5
O / 8 7 8 // 0 9 7 4 7/ 3 // 6 2 7 O 7 0 // 5
/// 0 /// 8/// 0 /// l /// 5/// 6 /// 2 /// 6/// 5
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